
spare parts list 
Vorabscheider 50l

Uzin Utz Tools GmbH & Co. KG | Ungerhalde 1 | D-74360 Ilsfeld 
Telephone: +49 (0)7062 91556-0 | Telefax: +49 (0)7062 91556-44 | www.wolff-tools.com 



Table of contents

Page 2 / 7 01.04.2024

1 Pre Separator 50l           3
2 Hobbok           5
3 Equipment           7



1 Pre Separator 50l

Page 3 / 7 01.04.2024



1 Pre Separator 50l

Page 4 / 7 01.04.2024

Item no. Article no. Description

2 01_01_082215 Hobbok

3 01_02_082215 Equipment



2 Hobbok

Page 5 / 7 01.04.2024



2 Hobbok

Page 6 / 7 01.04.2024

Item no. Article no. Description Quantity

1 082202 extension hose 1,5m antistatic 1

2 082212 Plastic spacer 6010H08 4

3 082214 Chassis Preseparator 1

4 082185 Plate Hobbock 50L 1

5 085104 Collecting Container Hobbock 50L 1

6 072870 Swivel roller Pre-separator 4

7 017724 Washer DIN 9021 6,4x18x1,6 12

8 018706 Lens head screw M6x20 4

9 072873 Lashing strap Pre-separator 1

10 082208 cyclone pre-separator conductive 1

11 049654 Cylinder head screw M10x25 DIN 912 4

12 017552 Lens head screw M 6x16 ISO 7380 6

13 017728 cap nut M 6 DIN 986 10

14 014817 Hexagon nut M10 DIN 985 4

15 085103 Clamping ring Hobbock 50L 1

16 169273 Inserter pre-separator 50l 1



3 Equipment

Page 7 / 7 01.04.2024

Item no. Article no. Description Quantity

1 082069 Adapter-Set pre-separator for Ronda 1

2 015744 Muffle/Hose Ø 38 mm 1

3 059940 Hose socket side tank Ronda 1

Powered by TCPDF (www.tcpdf.org)

http://www.tcpdf.org

	Table of contents
	1 Pre Separator 50l
	2 Hobbok
	3 Equipment


